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KR OB H T %G E w o oE KR D& =%
I £ KR 85. 1ha HEEHE KR 237. 6ha
NG FEHKX 50. 6ha = HE S E 28 KX 11. 7Tha
HEIS KX 34. 4ha BEPRE AR 175. Oha

| RS KR 81. 3ha EHHEBRE2AKR 8. 3ha
o | B 33. 9ha B H B REIPKR 16. 3na
B P 32 3ha BN B AR 15 1ha
LI BRI 2 R K R 30. 4ha 1B RS 2HEK R 42. 5ha
LR 1145 R K R 29. 2ha 1B R E 3K X 31. 6ha
AN &t 371.2ha | fBIITEERE 1 HEKK 40. 6ha
prATIES 9958 63. 1ha M| RN FEE 2K R 35. 2ha
LB 7K R 144, 6ha 1B TR 3K X 27.5ha
I HEK R 139. 3ha e 181 T SR AHEK IR 38. Oha
HETE ) HEK R 268. Oha hBIE S 1 HEK R 7.0ha
HORHIKR 91. 4ha oh B S5 28K IR 73. 8ha
TANIHIKER 177. 9ha oh B S5 3K X 39. 3ha
% 1K X 117. 4ha MEEAE: 745 31. 4ha
i 47 SEHE KR 56. Tha I 28 K X 2. 2ha
15 H KX 28. 4ha N E 833. Tha
FERHKR 81. 5ha
PR HEKX 26. 4ha
FERRHKX 63. 8ha
= KR 104. 1ha
) HEKX 60. 4ha miL+#miE
RA I HEK R 84. 5ha
K EHKK 31. 9ha
Pa M S HE KX 34. 9ha
Hsal 8 HEK X 42.9ha
A B R 5. 9ha
AEHKK 47. 2ha
A1+ HEK R 23. 3ha
REEMIEK R 24. 6ha
BEIHAK 0. Oha i
BB IHEKR 0. Oha
{EIREE KR 0. Oha
AKX 0. Oha
rh A K X 0. Oha
AEHKR 0. Oha
BHHAR 0. Oha
N g 1.718. 2ha

2,928. bha
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